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Juan has 5 bags of apples. He knows he has 30 a What is Thomasinas number? Peter says the answer is 3, Sara thinks the answer is 6.
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He has 42 cars, and he is placing them in 7 g ‘Which answer is correct?
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Be ready to explain your thinking to your group.
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Harriet purchased 3 boxes of cand; A classroom has 6 rows of chairs, with 5 chairs| Marion solves the problem in the order given. Georg Pedro has 300 baseball cards. He wants to sort his cards into piles. Each
Harriet's mother also purchased 3 boxes ‘What answer do they get? pile should have 10 cards.

Each bax contained 5 candy bars, How many chairs are in the clas
How many candy bars do they have altog Explain to your partners why Gearge wanted How many piles will Pedro have?
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How many groups of 4 do you need to ma ‘What is this number? Margo wants to arrange the chairs in the cafeteria Sheldon has 700 baseball cards. He wants to put them in bags. Each bag
She has 56 chairs. How many chairs will be in should have 100 cards.

Discuss with partners how the number line helped
How many bags will Sheldon need?
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Ms, Fleur is planting roses and sunflowers in Kathy wants to find the total number of stars, but s Find the answer. Did you get the same answer s Find the value of “77
The space she has for roses measures 6 yards wide count each one. She thinks counting is too
The space she has for sunflowers measures 2 yards Be ready to explain your thinking to With your group, write another problem that has the same answer.

long. Haw many total square yards does she have Help Kathy find the number of stars without cou
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How many dresses will she be able to decorate If she wants each bag to hold 40 jellybeans,

how many bags will she need?

Find the answer and be ready to explain
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0:0:0 0: She has 32 inches of ribbon. Each dress needs 4 in 1f there are 32 trees altogether, how many trees mus D it as quickly as you can” She is placing them in bags for her friends. ol
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How many jellybeans are there altog How many dots are there altogeth How many pencils will you have if you double Find the value.

Write a number sentence to show your a ‘Write a number sentence to show your a

ith your group why each of you has the Discuss with your group why each of you has the same answer.
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What number goes in the box to make the statement true?
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Michele spent 57 on a pair of baby shoes for The library bookcase has 4 shelves
o There are 168 books in the bookease and each she The first is 6 inches long. The second is 7

How much did Micheles shoes cos number of books. How many books are on o How long is the second string? ‘When you find your group, make up a story problem

that can be solved by the number equation above.

o9

KKK

o0
o
o
9%
R

3%

1Pede %%
5%
594%%%

9%
KKK
1200%0%6%

190000000 05959,9,9.9.%, 190000000000, 0,9,9,9.9.9, 0002600000262 %6%6 %% %% % 19090909.9,9,9,%, 190000000000, 0,9,9,0.9.9,
1900000000,0,9,9,9,9,9.9, 19000000000 0,9,9,9,0.9.9, 0002000200026 % %6260 %% %% 190%090909,9,9,9.9, 19000000000 0,0,9,9,0.9.9,
..:.0.0000‘:00’00 0002020 %0 %0 %0026 %6%6%6% % % %% % %% 1202026206220 9. 0,9, 0, ¢, 00000‘0’0’0’0’0’0’0’:‘:‘0 25 2 0202020 %% %6%6%6%6%6% % %%

19096%%6%%:%% $96%%%
1202000500 % SRHXHIKRKRI AKX Dode%e%e!

23
RRKKEE
RN
OO,

3

100000 0% %0 %0 %0 %0 % %6266 % % % %% % % %



190200000200 %6%6% %%, 000020000000 00 00 00 00 %0 %020 20000000 e 00 %0 %0200 e e 090002 %6%%% ¢ K ERER8REREERESEK KRS K REEEEEEEREEREREEELELEEEK KKK

Jogssosesstetetetetetets R000RRRRRILRRRRIIIIKKKKS KKREK & R RRRRIIIRRKLKRRRRAIIKRK

0.9.0.0.90.0.0.0.90.0.0.0 0.0.0.0.0.0.0.9.9.9.0.0.0.0.0.09.0.0.0.0.0.0.0.0.0.0.0.0.0 0. 0.0 K XXX .00 0. 0.0.0.0.0 9299.9,9.0.0.9.0.0.0.0.0.0.0.0.0.0.0
ZO0RIRIARIKEKRIKEKRRAK 2K, SORIKKARRNLL QRIIRIRIIRIIIRIKRRIIIKLIKKIKKLIEEK
SRR atotetotetotetotetode! % SRR QRRIIRRIIIKRHIRKIKAKKIEES

000 %%6%% o Q
9% K2 190962 %% :909:9:9:9.%, %060 %% 0,0,0,0.0.0, 90969 % % %% 03020000 %% %
090%0%0 %0262 0000904949 %:% 000 0 0 0 0 0 0 0000002020000 000090 950.0,0,0.0.0.0.0.0.0.9. 9000000000000 %0000 000004049490 %2
0020 % %0622 % % % %0 % % %0 %4 % 2K 0'0'0'0.0.0.0.0.0'0'0'0'0.0.0.0‘0‘0.0.0‘0‘0.0.0.0.0.0.0.0.0’0 e 19000000026 %6%6 %6269 %%, 0.0.0.0’0‘0'0'0'0'

R GHRHIHK K
GHIIIXIXKIIX XX K RRI X XK XK IKIIIIIKIKIKIAI X
SEKEREAAIRAE GHIIIKRX KR HX X KRR X KK KK

og0t0teS0t020%0%030 0 02020302020 2e 220200 20 e e R0 t0 e s
QX

G R A D E 4 G R O U P I N G S Correlation to the Common Core State Standards for each group of 4 cards can be found at didax.com/cccc.

4 has theee Factors: 1,2, and 4. I'm thinking of a nu
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and then divide b
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How many factors does 27 have? Find Rebecca’s original number. Jeremiah built this table. Peter is three years older than Kit.
What value did he add to each input to get t Mike is 3 years younger than Kit.
The sum of all of their ages is 12. How old is Kit?
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How many dots will be in the 10th Find the largest prime number in this Find Tavi's number, Tanisha has some pennics. Her sister has five times as many pennies.
If her sister has 95 pennies. how many does Tanisha have?
With your group, determine a rule to represent|
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Mathville Junior High School has a small a Michael works on an apple farm. Tanisha thinks the answer is 12. Deval disagrees.
“The auditorium has 216 seats arranged He helps pack the apples for shipm There are 430 students. If each bus holds He thinks you have to begin on the left to solve the problem.
1f there are 18 seats in each row, how many rows| He recently shipped 300 apples with 25 apples § how many buses should the principal The answer he gets is 21.
How many crates did he use? ‘Which is the correct answer?

SOROIRLIKAKKAKKKLLRKEL D e tetetete oo seteteteds QRO KRIKKALIIAILALAAAKARLIIKIKRIKLLKAIKKE
QRIRRRINKKKKKK & QRRKRKRIKIEKS 2NN QRRKRKRIRIEINS
QSAAIKLKK, 2 QRIRKRKRIRIKS QRN 2 QRRKRKRIRIIS

OO oo e e te ot e e te e tetetetetetotote o totetotoerotode: 2RIRKRKREAIEIEIIE & 2SR Fodetele! QRS RRKRKREK
QIIAIAIKKLKK, QRRKRKRIKIEIS QIS 02! QRRKRKRIKEEIS
QRIKAKAIIKK, QRORKRKRKRELILS QIIRINE b QRRKRKLINS
"2 230RRRIKARAKKIRLAKL Q0RLIRAIRRIIIKAALKEEL 2RI SRIRKEKKKKELIERS
Q5R5Q8R8REEEREREREEEREREEEERREREREREREREEERREREREEIREEERERREREREEEEIRREEREREEIREREREEEEIREEREEIIRERERERREREREEREREE IR EREEEEIREREREREEEEREREEREEEIRREELLEKEIRILELELEKE




0.0,9.0,0.0.9,

0.0.0,0,0,0.0.0.0.0.9.

%% 19000 % %% 100000 % %% € ER8Q8Q8585R5EEEREREREREEK KKK SRR KL XK K885 EES KK EEREIE KKK EREREEREEIIEEE LK KKK KKEKER

SORIKRKKKIEKEEL R R RRIALIIIRIRIRIRIRIRIKALIIELIIREL

Q0RO KR KR KKK,

3 SRIRIKIKKKREK Q2000 KRKRKRILLIALIKKIOIAK %! QIR RRRRRIKIKIUIRIIKKLKKKLAKRAIKAE

K000 0 S S S 88 8050808088555 0S 8 8852882525055 825 2525 5 5 5 5. 25255555550 5. 5 8 K X X X X X X K K 8 8 28 28 8 88028200000 0 0 8 8 8 8 8288 85 258 28 28288 255 0550555508855 28 28 25 25 5 5 5 555 5 52

0000088 S S 8888888855550 0 885528282825 25 252528 25 25 25525 25255555555 5. 5 8 8 XK X X X X X X X K 8 8 8 8 8282808200000 00 28 8 8 8 8 8 88 85 258 28 2828 2855555550855 8 25 25 K K K K K 5 5550

QORRIRIKI QR0 IR KR KRR KLIKIIRIKINEINEIS, 2R IKIKRIUKRIUKRIIKIKKRKIKKIKKLKKKE,

QR R IR

RRanEsasid i iaid s ddid s et lia R gt anE g i i sttt e St S o oS
0%,

K 12050508%

%

&
RS
ot
3R
XK
35

XX
(K2
%
R

K

K

QIO
R

%
K
R
b5

K
R

!
b5

!

Correlation to the Common Core State Standards for each group of 4 cards can be found at didax.com/cccc.

!
!

5

GRADE 4 GROUPINGS

b0t
b0t
b0t
&
2%
3
&
X
5
&%

o
R

o0 % K2
QR %%
3K S
% 0%
%
3
I'm thinking of a XX
IF | multiply the numi .
.:.:.:.:.:.:. and then add 4, | g A prime number is a_n_umber ANSWER
..}:‘:.:.:.: that can only be divided
ERRXRRS evenly by itself and 1. 23
GRARAAXRRS -—
GRRRHKKS u o,
QRRRAARL SRXL
SRHARARRRS SRR
00K L " L Aot " " k oot
:0.0.0.0.0.0. Your partners have the same value as the last ent) Harry spent some of his money on an action figure. What is Gerald's original number?| Find the largest prime number that is a factor of 92 8%
SRRHKK i R
CREAREAKR as much money as Harry on a shirt. Pierre bought %%
:0:0:0:0:0:0: With your partners, find the rule that represents dollars more than Melissa spent. If Harry spent $1( Be ready to share with your group how you found :0:0:
KRIKKKL chart. Might the value 35 be listed in the right colu much money did Pierre spend on his b QKL
GRRRAAR SHR
GRRRAARL XX
GRARRAARL 90900
QXHAIRRKS XX
RRRRRRK KKK
KRR XXX
%S 3R
XA
XA
XA
oo
IR

PO
9499
100
‘:‘“
o5
RRR

10 x 30 +100 =L

ANSWER
3

XX

RRRRRLLLS
&K}
XXX
2RRRRS

2%
’000000000000000.‘ KD
%

%%

969:%%
%e%
06202626 %%% %

Four children are sharing a bottle of a i il ‘What value goes in the box to make this a tru

The bottle holds 27 ounces of juice. If the childs I !
equally and each child drinks a whole numb If she places 94 sticks in each bag. how many bags Can you find the salution in your head?
how much will be left in the botthes Share your strategy with your group.

‘What value goes in the box?
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Rashawn has $15 in his wallet, He wants to buy 2 These expressions all represent the same valu Duncan says any number can be written as a fract What number is Belize thinking of?
«costing £1.29 each, 4 packs of paper for $2.38 apiece. think of how you weuld write 18 as a fra

$1.90. Does he have enough money? If yes. how mud
get? If no. how much more money does h What would the denominator be?
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Practice and reinforce the content from the Common Core
State Standards with these innovative activity cards.
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